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INDIAN SCHOOL SOHAR
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MATHEMATICS
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Notes:

Do the calculations in the working column
Give necessary fbrmulae and steps wherever required

Section A (Each question carrfes I mark)

I rnillion =

l' 
A)ro

lakh.

B)t00 c)l 000

.)
If a number is divisible by 9, then it must be divisible by

A)e0 B)6 c):

D)r 0000

D) ls

D) Acute angled
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3. Write roman numeral for 9l

A) xc B) XCI C) IXC D) CXI

4. Predecessor ofone lakh

A) 999999 B) 99999 c) r00000t D) t0000t
V

6.

5 'Ihe value of l2 x 8 + lZ x92

How many lines can be drawn passing through two given points?

D) t2e2A) 120 B) 128 c) r200

A)0 B)t c)2 D) Infinite

7. The successor of -34 is

A) 3s B) -34 c) -35 D) *33

8. Name the triangle having three equal angles

A) lsosceles B) Equilateral C) Right angled



9. Which of the following numbers are twin

A) 17,23 B) ll ,17

What part of a revolution have you turned
clockwise to face north

t0.

pnme

c) 5, lt

through if you stand

3c)-,4

D) 3,5

facing east and turn

D)t
L

A),4
L

B)-,2

t2.

t3.

t4.

ll.

18.

Section B (Each question carries 2 marks)

Find the difference between largest four digit number and the smailest four digit
number formed. by using digits 9, 0,3 and 4 ?

Give the expression for nine multiplied by the difference of seven and three.

Find 27 x l5 using distributive property.

Find LCM of 75 and 60.

Find all factors of 24.

Using the given figure, name allthe rays.

ln a quadrilateral ABCD, name;

l. Two pair of opposite angles

2. Two diagonals

Represent -4 + 2 on a number line

Section C (Each question carries 3 marks)

19. Check the divisibility of 1923 by;

a) ll b)3
Round-offeach numberto nearest tens, hundreds and thousands.

15.

t6.

17.

20.

a) 2456 b) 4e734
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2t. Write the name ofangles;

a) 270 b) 360"

24.

c) 17C,

23.

22. Write.the number of corners, faces and edges of ;

a) A cuboid b) A triangular pyramid

Draw a pentagon and mark its alldioganals.

write six negative integers greater than -20 in ascending order.

Section D (Each question carries 4 marks)

25' The cost of a purse is Rs. 250 and a steel tiffin box is Rs. 290. Find the total cost of
I I purses and l9 steel tiffin boxes.

26' Find the largest size of a square tile that can be used for paving a rectangular room of
162 m long and 84 m wide. Also find the number of tiles needed to pave in the room.

27. Draw a circle and mark;

a) radius b) chord c) sector d) arc

28. Replace * by >, ( or = in the given equation.

a) -4+*7+-S *. -4-2-(_7.)
b) -70+ l0- t5 {. 50- t50+25

- -.THE END.. -

v
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